6.2 Inverse Functions and Relations
Honors Algebra 2

Inverse Relation: ne et £ cdered ParS  obtouned b& ex;.hana\ n%
‘ne  coordinales

The domain of a relation becomes the _ &N %6. of its inverse, and the range

of the relation becomes the domonn of its inverse.

& KeyConce t. dnverse Relations .

Words Two relations are inverse relations if and only if whenever one relation contains the
element (a, 1), the other relation contains the element (b, a). A

Bxample  Aand Bare inverse relations. #awop on
A= {(1 ) 5)! (21 6), (3s 7)} B= {(5- 1)v (61 2): Un 3)} J

1. The vertices of AABC can be represented by the relation {(1, -2), (2, 5), (4, -1)}.
Find the inverse of this relation. Describe the graph of the inverse.
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2, The ordered pairs of the relation {(-8, -3), (-8, -6), (-3, -6)} are the coordinates of the
vertices of a right triangle. Find the inverse of this relation. Describe the graph of

the inverse.
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Notation for an inverse: ¢~ ) Adosnt mean exponet —\ &

When the inverse of a function is a function, the original functionis _2nN& = - one .

The hori ﬁ:ﬂt&‘ \ine ﬁs_"[ can be used to determine whether the inverse of a
function is also a function. ftuse vertital \ine by 4 deermine
” groph 13 o funchen
3. Determine whether the inverse of the functions below will also be functions.
a. b.
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4. Find the inverse of each function. Then graph the function and its inverse.
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Ifboth_¢c6 m pos\h enNs  equal X , then they are inverses.

Words Two functions fand g are inverse functions if and only if both of their compositions

| are the identity function.
Symbols f(x) and g(x) are inverses if and only if [f o g](x) = xand [g o Ai(x) = x.

5. Verify that the two functions are inverses:
a. f(x)=3x+9 and g(x) = £&x-3

flged) = 3(Vax -3) +9

q(sd) = & (3x+9) -3
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b. f(x) =4x% and g(x) = 2vVX
Flge) = 4 (25)*
= 4(4x)

+ WX

NotT  merses

c. f(x)=3x-3and g(x)=35xt+4

“3@ = 3(‘/_5x+tb -3

= X +\2 -3
> Y & q
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d. fx)=2x*-1and g(x)= -\/%—1
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